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One accomplishment of the national government
under the Articles of Confederation was the
passage of legislation establishing

(1) a central banking system

(2) a process for admitting new states to the
Union

(3) the president’s right to put down rebellions

(4) the ability of Congress to tax the states
effectively
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One weakness of the Articles of Confederation

was the inability of the central government to
(1) establish a postal system

(2) collect adequate taxes from the states

(3) control western lands

(4) admit new states to the Union
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What was a result of the Great Compromise
during the Constitutional Convention of 1787?

(1) creating a two-house legislature
(2) banning slavery in Southern states
(3) requiring that the president have a cabinet
(4) giving the Supreme Court the power to hear
cases involving states
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What was one effect of the Three-fifths
Compromise?

(1) Slave states gained additional congressional
representation.

(2) The number of justices on the Supreme
Court was established.

(3) Presidential appointments were assured easy
confirmation.

(4) A two-house legislature was created.
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Which issue did the Virginia Plan, the New Jersey
Plan, and the Great Compromise address at
the Constitutional Convention (1787)?

(1) the power to regulate interstate commerce

(2) the number of justices on the Supreme Court

(3) a system for electing the president

(4) a method of determining state representation
in Congress
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The Three-fifths Compromise adopted in the
Constitution in 1787 had the effect of

(1) increasing the representation of southern states
in Congress

(2) providing a method for ratifying amendments

(3) making possible the impeachment of the
president

(4) allowing the use of the elastic clause in the
legislative process
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At the Constitutional Convention of 1787,
supporters of the Virginia plan and supporters of
the New Jersey plan differed over the method for

(1) detenninin;_, u)ng_,ressi()nal representation
(2) selecting the presidents cabinet

(3) adopting the amendment process
(4) giving powers to the executive branch
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At the Constitutional Convention of 1787, the
Great Compromise between the large states and
the small states resulted in

(1) the creation of a bicameral legislature
(2) a provision for equal protection of the laws
(3) a permanent solution to the slavery issue

(4) the guarantee of voting rights for all male
property owners
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Under the Articles of Confederation, the years

between 1781 and 1787 are often referred to as

the “critical period” because the

(1) colonies were forced to pay high reparations
to England

(2) states were fighting the French and Indian
‘War

(3) southern states threatened to secede from the
Union over the issue of slavery

(4) central government lacked the power to deal
with major problems
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Speaker A:

Speaker B:

Speaker C:

Speaker D:

Our national government should be
strong. State governments should have
only limited powers.

A bicameral legislature would protect
the power of both the large states and
the small states.

he expansion o he  national
Tl ot tional
government will lead to tyranny.

The executive branch should have
sigglificant power.

6 Which speaker is expressing an idea that was
included in the Great Compromise during the
drafting of the Constitution in 178772

(1) A
(2) B

3) C
4) D
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At the Constitutional Convention of 1787, the
Great  Compromise and the Three-fifths
Compromise both involved the issue of how

(1) new states would be created

(2) states would be represented in the national
government

(3) the armed forces would be controlled
(4) presidential elections would be conducted
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At the Constitutional Convention (1787), which
issue was resolved by the Great Compromise?

(1) method of electing the president
power of Congress to tax exports

@)
(3) regulation of interstate commerce
(4) representation of states in Congress

2
3
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Which major issue was debated at the
Constitutional Convention in 1787 and contri-
buted directly to the start of the Civil War?

(1) regulation of interstate commerce

(2) setting of qualifications for federal office
holders

(3) length of presidential term of office

(4) balance of power between the states and the
national government
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The Great Compromise enabled delegates at the
Constitutional Convention (1787) to

(1) establish the principle of popular sovereignty
in the territories

(2) give Congress the exclusive right to declare
war if the nation is attacked

(3) protect the interests of states with small
populations and states with large populations

(4) provide for the indirect election of the
president through the electoral college
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® A bicameral legislature is created in which
states have equal representation in the Senate,
but representation in the House depends on
population.

 An enslaved person is counted as three-fifths of
one person for purposes of both representation
and taxation.

These two statements describe

(1) grievances included in the Declaration of

Independence

(2) provisions found in the Articles of Con-
federation

(3) compromises reached at the Constitutional
Convention

(4) amendments included in the Bill of Rights
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The primary purpose of the Articles of
Confederation was to

(1) provide revenues for the national government

(2) establish the basic framework of the national
government

(3) give the national government the power to
regulate interstate commerce

(4) guarantee a bill of rights to protect citizens
from the national government
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Shays™ Rebellion (1786) became a concern for
many national leaders because it

(1) indicated there would be future conflicts over
the spread of slavery

(2) exposed fundamental weaknesses in govern-
ment under the Articles of Confederation

(3) pointed to the need for federal government
regulation of interstate commerce

(4) showed that frontier settlements were
vulnerable to raids by Native American Indians
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Which idea guided the development of the
Articles of Confederation?

(1) A strong central government would threaten
the rights of the people.

(2) All the people should be granted the right to
vote.

(3) Most power should rest with the judicial
branch.

(4) Only the central government would have the
power to levy taxes.
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Why did the authors of the Articles of
Confederation create a weak central govern-
ment?

(1) They lacked an understanding of state
problems.

(2) They anticipated the threat of foreign
invasion.

(3) They relied on advice from royal governors.

(4) They feared the kind of rule experienced
under the British monarchy.
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The Three-fifths Compromise was included in
the Constitution to resolve a conflict over the

(1) counting of enslaved persons in relation to
taxation and representation

(2) reimbursement of plantation owners for
runaway slaves

(3) number of votes needed to approve a treaty in
the Senate

(4) number of states needed to ratify a proposed
amendment
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Shays’ Rebellion of 1786 was significant because it

(1) showed that the English still had influence
after the American Revolution

(2) convinced many Americans of the need for a
stronger national government

(3) revealed the increased threat from rebellious
Native American Indians

(4) endangered the lives of many recent
immigrants
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The Great Compromise reached at the
Constitutional Convention resulted in the

(1) formation of the Supreme Court

(2) creation of a bicameral legislature

(3) development of a two-party system

(4) ban on the importation of enslaved Africans

2
3




image27.tmp
The main reason the Articles of Confederation
were replaced as the basis of the United States
government was that they

(1) lacked provision for a national congress

(2) declared  that political protests were
unconstitutional

(3) placed too many restrictions on the activities
of state governments

(4) failed to give the central government enough
power to govern effectively
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At the Constitutional Convention of 1787, which
problem was solved by the Great Compromise?

(1) developing the method of electing a president

(2) designating control of interstate commerce

(3) outlining the structure of the federal court
system

(4) establishing the formula for representation in
Congress
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Disagreement at the Constitutional Convention

of 1787 over the Virginia and New Jersey plans

was resolved by a compromise that

(1) guaranteed continuation of the slave trade for
at least twenty more years

(2) limited the power of the federal government
to wage war

(3) provided for construction of a new national
capital in the south

(4) created a Congress made up of a Senate and
a House of Representatives
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A major criticism of the Articles of Confederation
was that too much power had been given to the

(1) British monarchy
(2) House of Burgesses
(3) state governments
(4) national government
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A major criticism of the Articles of Confederation
was that too much power had been given to the

(1) British monarchy
(2) House of Burgesses
(3) state governments
(4) national government
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The conflict over representation in Congress was
addressed at the Constitutional Convention of
1787 by

(1) creating a two-house legislature

) limiting the terms of lawmakers to four years
) giving Congress implied powers

4) ending the importation of enslaved persons

9
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“New Congress to Have Two Houses”
“Slaves to Count as Three-Fifths of a Person”
“President to be Chosen by Electoral Vote”

Which conclusion about the Constitutional
Convention is best supported by these headlines?

(1) The framers of the Constitution were able to
compromise on important issues.

(2) States that were small in area would lose
power in the new Constitution.

(3) States with large populations controlled the
outcome of the convention.

(4) The president and Congress would have
equal power under the new constitution.
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Based on the United States Constitution,
the census helps to determine the number of

(1) presidential candidates
(2) members of congressional subcommittees

(3) electoral votes assigned to each state
(4) senators from each state
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In 1790, the first census of the United States was
taken in order to

(1) create immigration quotas

(2) determine each state’s representation in
Congress

(3) establish the number of appointed federal
judges

(4) justify funding for public education
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According to the United States Constitution, the
federal census is used to determine the

(1) size of the United States Supreme Court

(2) maximum number of cabinet members

(3) apportionment of members in the House of
Representatives

(4) number of senators allotted to each state
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The United States Constitution requires that a
national census be taken every ten years to

(1) provide the government with information
about voter registration

(2) establish a standard for setting income tax rates

(3) determine the number of members each state
has in the House of Representatives

(4) decide who can vote in presidential elections
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Articles of Confederation

®  First form of government used by the U.S. after independence from Britain. First plan of union for the
original 13 states.

® At this point many Americans distrusted a strong central government because of their experiences
under the rule of Great Britain. They wanted to limit the central government’s opportunities to
infringe upon the people’s liberties so they established a decentralized (power is broken up and divided
among many groups, not unified) political system in which the state governments had all the power.

* Problems and Weaknesses- Largely unsuccessful at solving many major problems because most power
remained with the state governments. Congress depended on the states for men and money to
support an army. National (aka Federal) government could not enforce its laws. Congress constantly
overrode the President’s vetoes.

® States had the power to collect taxes, coin money, and control trade.
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®  Success of the Articles- It provided a system for governing the Western territories and a process for
admitting new states to the union.
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Constitutional Convention (1787)-Major American delegates (politicians) meet in Philadelphia to revise
(correct) the weaknesses of the Articles of Confederation.

e Called primarily because the central government needed additional power (the states had too much power).
o shays’ Rebellion (1786)- Significant because it convinced many Americans of the need for a stronger national

government. Exposed the weaknesses of the Articles of Confederation. Led to a call for the Constitutional
Convention.

* Led to the creation of the U.S. Constitution.
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Great Comprol

e Settled a dispute over how the states would be represented in the national legislature aka Congress

(group of people who write and vote on laws). Delegates from states with small populations supported
the idea of equal representation for the states in the national legislature (ex New Jersey). Delegates from
states with large populations supported the idea of representation based on the size of population (ex
Virginia).
* Solution- Created a bicameral legislature (two houses that write and vote on laws). One house would be
based on population (House of Representatives) and the other house would have equal representation
for all states (Senate).
Three-Fifths Compromise- Solution to the problem of how to determine the number of representatives in the House
of Representatives (branch of Congress) from states with large slave populations. Determined that 3/5 of the slave
population would be counted for representation in the House.

*  Other Major Compromises- Slave Trade, Taxation, Election of President.




